S SEREI AR l

131500 1341508 134

== \/P3I/\ KBN{

MEER - AE
EESE ECE(WVP) m200AL EEFTFHEREGUEY. wHR(BEEGHoT)

J—FNo. EE EGREREA)  txB c P @fbhILNFys H o AB(1EXED)

013 [13A(10) 18 0.8x25 | 44 | 20 M6X20 54 | 500(10x50)
016 | 16A(15) 23 0.8x25 | 44 | 20 MeX20 56 | 400(10x40)
020 20A 26 0.8x25 | 44 | 20 M6x20 58 | 350(10x%35}
025 25A 32 0.8x25 | 44 | 20 MEX20 61 | 300(10%30)
030 30A 38 0.8x25 | 44 | 20 MEX20 64 | 280(10%28}
040 40A 48 0.8x25 | 44 | 20 MEX20 69 | 200(10x20)
050 50A 60 0.8x25 | 44 | 20 MEX20 75 | 150(10x15}
065 65A 76 0.8x32 | 44 | 20 MB8x20 a3 70
080 80A 89 0.8x32 | 44 | 20 MB8x20 90 60
100 100A 114 1.0%32 | 44 | 20 M&x20 103 50
125 125A 140 2.0x32 | 47 | 20 MBx25 120 30
150 150A 165 2.0x32 | 47 | 20 MB8x25 132 25
200 200A 216 2.0x32 | 45 | 20 MBX25 157 15

1381508 13A-1508 134504

=g
_LL_J - + 4

== RJ'VPIL/\> FBNf

MR - A&

EESE EEE(VP) wm200AL EEFEHEOGUET., WS (ERIENDoT)

J—ENo. EE# ESikER(A) txB P @EMILEEys H O AB(18XED
013 13A(10) 18 0.8x25 | 44 | 20 MEx20 54 | 500(10x50)
016 16A(15) 22 0.8x25 | 44 | 20 MEx20 56 | 400(10x40)
020 20A 26 0.8x25 | 44 | 20 MEx20 58 | 350(10x35)
025 25A 32 0.8x25 | 44 | 20 MEX20 61 | 300(10x30)
030 30A 38 0.8x25 | 44 | 20 MEX20 64 | 280(10x28)
040 40A 48 0.8%x25 | 44 | 20 M6%20 69 | 200(10%20)
050 50A 60 0.8x25 | 44 | 20 Mex20 75 | 150{10x15)
065 65A 76 0.8%32 | 44 | 20 M8x20 83 70
080 804A 89 0.8x32 | 44 | 20 MBx20 90 60
100 100A 114 1.0x32 | 44 | 20 MBx20 103 50
125 125A 140 2.0x32 | 47 | 20 MEx25 120 30
150 150A 165 2.0%32 | 47 | 20 MEx25 132 25

130-1508 1301804 130508

2| B | N-010260

WEE - Big
BESE ECE(VP) m200AL HEEHEEGUFT. BT YU (SUS304)
J—KNo. EEM BSRSEER) txB  C P @HALRFyE H  AR(ISXE)
013 13A010) 18 0.8x25 | 44 20 Mex20 54 | 500(10x%50)
016 |16A(15)] 22 | 0.8X25| 44 | 20 | M6x20 | 56 | 400(10X40)
020 204 26 0.8x25 | 44 20 ME*20 58 | 350(10x%35)
025 | 25A 32 | 0.8x25| 44 | 20 | M6x20 | 61 | 300(10x30)
030 30A 38 0.8x25 | 44 20 Mex20 64 | 2B0(10x28)
040 | 40A 48 | 0.8x25| 44 | 20 | M6x20 | 69 | 200(10x20)
050 | 50A 60 | 0.8X25 | 44 | 20 | M6x20 | 75 | 150(10X15)
065 | 65A 76 | 0.8x32 | 44 | 20 | Mex20 | 83 70
080 80A 89 0.8x32 | 44 20 MBx20 a0 60
100 100A 114 1.0x32 | 44 20 M&x20 103 50
125 | 125A 140 | 20x32 | 47 | 20 | M8x25 | 120 30
150 | 150A 165 | 2.0x32 | 47 | 20 | M8x25 | 132 25
200 | 200A 216 2.0x32 | 45 20 MBx25 159 15

+ +
pnn
+ %

MBE - A&
NESHE ECEGU) SR (EIBHHOF)

J—FNo. EE# ESiKERA) txB G P @btILNFes H AM(OEXED)

050 S0A 54 2.3x25 | 45 | 20 M6x20 75 150
065 65A 68 23%25 | 45 | 20 | M6x20 82 140
080 80A 81 2.3x25 | 45 | 20 MEx%20 88 130
100 100A 106 2.3x25 | 45 | 20 M6x20 | 101 100
125 | 125A | 134 | 3.2x32 | 55 |25%| M10x30 | 126 50

150 150A | 165 [ 3.2x32| 55 25| MI10X30 | 141 40

HEEONROEEREL T T,

Bo<ayu—x El=avoy—+ Eoure Ben Bswrcmaran. BHsasmo-s o ADEATFMM T,




